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---------- RER O S E cre e

277(1/x) = 1/9

(277(1/x))~x = (1/9)"x

277 (x/x) = 1/97x

27 = 1/9"x

rappel: si a/b = ¢/d alors ad = bc

27/1 = 1/9"x => 9"x-:27 =1

9rx = 1/27

x = log(1/27)/1log(9)
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x = 1log[3](1/27)/1og[3](9)

X
]

(log[3](1) - log[3](27))/1log[3](9)

(Log[3](1) - log[3](3%))/1log[3](3?)

P
]

rappels:

Il
(av)

 log[b](1)
log[b](b)

 log[b](m-n)

Il
=

log[b](m) + log[b](n)

log[b](m) - log[b](n)

e log[b](m/n)

X = (@ - 3-1og[3](3))/(2-10g[3](3))
x =(0 - 3:1)/(2:1)
X = -3/2
| x=-1.5 |
(fin)
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.......... REPONSE (LM)

277(1/x) = 1/9
9.277(1/x) = 1

372 (373)7M(1/x) = 1
3/A2.34(3:1/x) = 1

32(2 + 3/x)

!
=

37(2 + 3/x) = 3”0

méme base (= 3), donc:

2 + 3/x =0

3/Xx = -2

2X = -3

| x=-1.5 |




